SVIVE

INSTALLATION
INSTRUCTIONS

@ Seat backx1 @ Seat base x 1 @ Gas lift regulator @ Five-star base x 1

=S I ES ;
6 M8 M6 o < M6
[ R —— © ®
Caster Gas lift piston x 1 Plastic M6 Allen key x T M6 screws x 2
wheels x 5 Piston covers x 1 covers x 2 M8 Allen key x 1T M8 screws x 8

Install the wheels, gas lift piston and Use an M8 Allen key to fix the seat Mount the gas lift regulator underneath
the piston cover onto the star base. back/top onto the seat base metal the seat using four M8 screws. It is

These parts are easy to install. hinges, using the same M8 screws. important that the notch for the gas lift
No screws, just click in place. is mounted on the rear-end of the seat.

Remove the M8 screws from the seat Mount the plastic covers onto the metal Insert the gas lift piston into the notch of
back/top. Place the seat back/top onto hinges using an M6 screw. The shape the gas lift regulator underneath the seat.
the seat base between the of the plastic cover should fit perfectly. No screws needed, balance the seat and

metal hinges. Start with the left side. it will click in place. Gently apply pressure.



Seat height adjustment Armrest adjustment

Seat back adjustment

Left side Right side

Lift the armrest: Press button (1) and
pull the armrest upwards.

Lift the handle on the right side and
lean gently forward or backward to
adjust the position of the seat back/
top. Push down handle to lock the

Seat height: lift the handle on the right
side underneath the seat. Sit on the
chair to lower the seat or stand up to

L th : P button (1
adjust the seat higher. Let go of the ower the armrest: Press button (1)

and push the armrest downwards.

position. handle fo lock the position.
Sid itioning th t: P
Seat filt: Lean backwards or forwards iae postrioning _e armrest: Fress
) ) e o button (2) and adjust armrest to the

to find the best filt and sitting position. left or right

Lock the position by pushing down ont

the handle on the left side underneath Forwards positioning the armrest:

the seat. Release the tilted position by Press button (3) and pull the armrest

lifting the handle. frontwards or backwards.
Atftentions:

1. Please do not use the chair for other purposes.

There may be risk of overturn if standing on the chair.
2. Put a soft cushion under the chair when installing,

to prevent damages to the floor or the chair.
3. Please use the chair on a flat surface.

The product is intended for single person use only.

5. It might be dangerous to move the chair with goods on it Caution! Please do nof lift feet
please be careful. when lying flat on the chair.

6. Keep away from fire or hot items such as ovens.

7. Keep away from direct sunlight.

8. Do not use the chair in fire or damp environments.

9. Use a soft dry cloth to clean the chair.

10. If there are stains, please use a mild detergent, hot water
and a soft cloth to wipe the chair. After that use a dry cloth.
1. Dismantling of gas spring is prohibited.

12. Other cautions are also described in the instructions,

Please do not push the head part
when lying flat on the chair.

please read carefully.



